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BAL BHARATI PUBLIC SCHOOL, GRH MARG (PUSA ROAD) NEW DELHI
MATHS COMPREHENSIVE ASSESMENT TEST WORKSHEET NO-15

. Fill in the blanks:

. 6240 - .

. 77 - 20

. 8246 - 1

. 47 - 13

. 1862 - -
50 - .

. 786 - 786

. Subtract 20 from 80

25 minus 10 is

16 minus O is

40 taken away from 50 is

. 286 is less than 297 by

. Subtract:
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Class III
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. Difference between 724 and 723 is

= 6240
= 1861
= 40
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3. Arrange in columns and subtract:

a. 568 from786 b. 1240 from 8620

4, Divide by repeated subtraction:

36 +9

5. Divide and find the quotient:

a. 4 8084

942

‘ (o)}

6. I have to distribute32 sweets amongst my 4 friends equally. How many sweets will
each friend get?

7. 10 pencils can be packed in a box. How many boxes will be required to pack 420
pencils?
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